w08 & FER, ARREGE AR

— H % 2| — H ¥ | 444 | —HYE|— # % = b |— #H Y = 0| — # % =|EH G HEEDEREED
E Ok U A [y W OE | D i E|lb EZE|D KE|E FE W # | FE K # H- G A LR H I
WO M O M B | R ¥ | H ¥ — 153 & | — i &b 2 K OB | E B OH | HTekk
M M H H M M M M %
SRR 4 F E E 5 3,668.15 5,502.44 21.2 31.2 1,772,738 7,459,666 587,301 9,170.73 40.0
RV 5 F E ¥ i 3,745.63 5,580.46 21.2 31.2 1,815,545 7,492,118 604,673 9,300.77 40.3
gk 6 F E E 5 3,811.29 5,651.53 21.2 31.5 1,866,300 7,576,937 616,843 9,419.21 40.5
SOpR 7T EEYY 3,951.62 5,813.90 21.0 31.4 1,903,386 7,365,790 640,560 9,689.83 40.8
OBk 8 fF E E 3 3,903.75 5,885.65 21.0 31.3 1,928,645 7,652,477 642,566 9,809.42 39.8
SRR 9 F EE Y 3,750.70 6,041.41 21.5 30.8 1,977,486 7,769,154 646,188 10,069.02 37.2
Rk 1 0 fF EE Y 3,675.75 6,046.40 21.4 30.8 1,943,828 7,726,564 661,773 10,077.33 36.5
SRR 1L 1 EEY 3,620.60 6,015.45 21.2 30.8 1,926,435 7,545,715 667,339 10,025.75 36.1
SRR 1 2 £ E Y 3,596.63 5,985.32 21.1 30.7 1,894,297 7,334,942 667,206 9,975.54 36.1
X Rk 1 3 £ ESEY 3,487.09 5,948.53 21.0 30.8 1,866,299 7,622,728 668,714 9,914.21 35.2
SE R 1 4 F EE Y 3,333.90 5,915.01 20.8 30.6 1,830,746 7,812,203 686,601 9,858.35 33.8
SRR 1 5 F EEY 3,265.12 5,854.04 20.6 30.5 1,775,266 7,796,910 687,725 9,756.73 33.5
SRR 1 6 fF E Y Y 3,252.06 5,806.82 20.4 30.4 1,751,719 7,566,547 671,289 9,678.04 33.6
YRR 1 7 % E NG 3,221.10 5,777.80 20.2 30.4 1,719,500 8,064,457 685,193 9,629.67 33.4
SRR 1 8 FEEYY 3,176.03 5,779.85 20.1 30.7 1,710,152 8,796,660 690,819 9,633.09 33.0
SE R 1 9 F EEY 3,184.83 5,747 .67 20.0 30.6 1,704,631 8,473,297 689,875 9,579.45 33.2
SERR 2 0 FEE Y B 3,152.94 5,714 .48 20.0 30.5 1,666,611 8,297,481 700,975 9,524.13 33.1
SRR 2 1 5 E
SEER2T4HE 4 A 3,370.50 5,693.83 19.3 30.9 1,619,433 7,089,315 672,176 9,489.72 35.5
X k214 5 A 3,214.82 5,700.47 19.8 30.7 1,656,142 7,755,034 697,784 9,500.78 33.8




